www.Padasalai.Net www.CBSEtips.in

SECOND MID-TERM TEST - 2022
Standard - XI

Time : 1.30 hrs MATHS Marks: 45
l. Choose the correct answer for all the questions:- 10x1=10
; g0 1
1) If A= e then for what value of A, A%=0
a) 0 b) *1 c) -1 d) 1
12 38
2) What must be the matrix X, if 2x + [3 4] = (7 J
2
13 w173 2 6 «f2 -6
a) 2 B){, .4 - c) 4 -2 dl4 .2
e =1 ul-ae :
3) If A= [2 _1] B= [b _J and (A+B)2=A%B?, then the values of aand b are
S a) 4=, b=1 b) a=1, b=4 c) a=0, b=4 d) a=2, b=4
~4) If A is square matrix, then which of the following is not symmetric?
a) A+AT b) AAT c) ATA d) A-AT
5) The value of ?B+§>C +DA+CD is : :
~ a)AD b) CA ¢) 0 “d)-AD .
g AN A O : 3 :
6) IfAi+2Aj+2)\ Kk is a unit vector, then the value of A is
1 1 1 15
a) % B). 7 : c) 5 d) 7%
4 : glre s 2
7) If |3a’_|= 13, |B]=5 and a. b=60 then [axb] is
a) 15 . b) 35 ' . c) 45 d) 25
8) Ifa vectir rj-akes equal angle W(ﬂz'\ the coordinate axe t1h that angle is equal to
HEETO (5] e[
M M . 2 b : -1 d =l
a) cossmg _ b) cos 3 c)cosT | 3 ) - d)cos 5
9) xl-tO T ¥ - .
a).0. R b) -1 , S A d) «
10) xlizo 1.6 ¥ a : . b a
Bia) log ab ' o b) log b c) log . d) B3
Il. Answer any 4 questions:- Yo - 4x2=8
3 4 1 e
1) If A= | g .4 2| then find the value of |A| using Sarrus method.
' 5-2 6 :
0 sina cosa
12) IfA = | O SN2 then find [A|
cosa -sinf 0 ot | ; )
13) If (-2, -3), (3.2), (-1, -8) are all vertices of atriangle then find the area using

Determinant Method.
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= (2) g - XI MATHS *
14) Flng the_)unlt Vector in the direchon of 57 ~3] +4 k
15) If-a=2i +A] + k and b— [ —2]+ 3 k are perpendicular vectors then find
the value of A?
_ e X 3
16) Evaluate "0 | = +4X *3}
17) EValvate; . X1
X = x_2 : .
I Answer any 4 questions:- 4x3=12
1a a>-bc
18) Show that. |1 b b?-ca |=0
1 ¢ c*ab
= y - 2
2bc-a? g b? a b-ic
19) Show that:| ¢ 2ca-b?. a2 =P FEesa
b? a? 2ab-c? Ccxa P

20) If the point P divides the line segment AB internally in the ratio m:n. then find
the position vector of ‘P’ .

21) Fﬂd the magnitude direction ratios and: dlrectlon cosmes of the vector
3i4j+8Kk -

22) SEPW that g;-e points whose posntlon vectors are 2i +3 1-5 k 3 i+ 1—2 K and -
61—5]+?k are collinear. 5 S -

e S 2030

xo@ x? 1 4x+4

} % S > |

23) Evaluate;

3 : - lim sin ax
24) Evaluate: oD sinﬂk'_ | . inie
IV. Answer all the questions:- : : e 3x5=15 o
' : : 919,51 LS ' ;
25) Express the matrix A= {-z =2 1] as the sum of a Symmetric 'and a skew-
: symmetric matrices. =& C2 : _
-G e i h . ' e for] =S
5 1+ Al g ' B :
Prove that Yoo r. 1 .| = abc. (1+- +E+-) without _expanding the
; : $ c
R 1+c | | x 2 x° determinant.
. \ / ?‘ ‘_
1 e
26) Using factor theorem prove that |, iz: = (x=y)(y-z)(z—x)(xy+yz+zx) [or]

Show that the points with position vectors 2 T4 j+3 k, 47+ j +9 kand 10 i__i>+6_k>"
form a right-angle triangle. : a2

27) Prove that the medians of atriangle are concurrent. _ [or]
Prove that m . Sinp |

6e—>0 ¢ =1 B AR
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